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Objective: Identify the correct spelling of irregular plural nouns.

Add It Up! 

Choose the correct spelling of the word that means 
more than one.

The spelling of some words changes to name more than one.

 woman women

The spelling of other words stays the same.

 fish  fish

Example

111  1 tooth + 1 tooth = 2 ■

222  1 goose + 1 goose = 2 ■

333  1 ox + 1 ox = 2 ■

444  1 child + 1 child = 2 ■

555  1 sheep + 1 sheep = 2 ■

666  1 cow + 1 cow = 2 ■

777  1 foot + 1 foot = 2 ■

888  1 mouse + 1 mouse = 2 ■

999  1 deer + 1 deer = 2 ■

101010  1 man + 1 man = 2 ■

111111  1 moose + 1 moose = 2 ■

121212  1 seal + 1 seal = 2 ■

F teeth H tooths

G gooses J geese

A oxen E oxes

D childs E children

F sheeps H sheep

C cows K cow

B foots L feet

D mice J mouses

B deer I deers

A mans K men

C meese G moose

I seals L seal


